BASIC TECHNIQUES IN PLANNING THE PLAY
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THIS IS A HOLD-UP!
The lead usually points to a strong suit and long suit with the leader. This is especially true when an HONOUR card is led. How does HOLD-UP play help here?
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Contract: 3NT   BY SOUTH
Opening Lead: [image: image18.png]


Q. BY WEST  (Top of sequence)
STEP 1:
COUNT YOUR SURE TRICKS 
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1.a 
CAN YOU PERFORM A HEIST?
In the deal below, use HOLD-UP judiciously play to make your contract. 
	DEAL 

NO 1.a
	[image: image19.png]


Q73
[image: image20.png]


43
[image: image21.png]


AQJ763 
[image: image22.png]


Q9
	

	[image: image23.png]


T54 
[image: image24.png]


KQT92 
[image: image25.png]


82 
[image: image26.png]


AJT
	[image: image27.png]



	[image: image28.png]


J982
[image: image29.png]


876
[image: image30.png]


K5
[image: image31.png]


8763

	
	[image: image32.png]


AK6
[image: image33.png]


AJ5
[image: image34.png]


T94
[image: image35.png]


K542
	


Contract: 3NT   BY SOUTH
Opening Lead: [image: image36.png]


K. BY WEST  (Top of partial sequence – next lower card to the missing card)



East plays a discouraging SIX.
STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = ? (__ in Spades, __ in hearts, __ in diamonds,  __ in clubs). 
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If you made Nine Tricks, congratulations, you are now promoted to HOLD-UP master. You have just earned the below award!
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DIVIDED HONOURS
If two high cards are with opponents, the chance of both being in any one hand is 1/4th or 25% only. How can we use the remaning 75% chance effectively in making our contract?
	DEAL 

NO 2
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Contract: 3NT  BY SOUTH
Opening Lead: [image: image54.png]


Q (Top of sequence)

STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = 5 (2 in Spades, 3 in hearts). 


Note: Even though you have KQJT9 in diamonds and clubs, they are not “sure” tricks.
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2.a  CAN YOU BE THE MEDIATOR?
How can you use the concept of DIVIDED HONOURS and make the contract below?
	DEAL 

NO 2.a
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Contract: 3NT  BY SOUTH
Opening Lead: [image: image72.png]


Q (Top of sequence). East plays the KING to UNBLOCK. 

STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = ? (__ in Spades, __ in hearts, __ in diamonds,  __ in clubs). 
<DELETED REST OF  PAGE FOR BUG REPORT FILE SIZE>
If you made Nine Tricks, congratulations. The SPLIT HONOURS have united for your cause as you see below!
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“TIMING” THE PLAY
Here, we will see how the concept of DIVIDED HONOURs can be combined with careful TIMING of the play in a critical suit(s) can give you absolute certainty in making your contract. Note: If 3 honours are missing, they will ALL be in the same hand only 1/8th of the time or 12.5% of the time – very low chance. 
	DEAL 

NO 3
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Contract: 3NT  BY South
Opening Lead: [image: image90.png]


J. (Top of a sequence)
STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = 3 (3 in Spades. Other tricks need to be developed.) 


Note: Count only “sure” tricks.
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3.a  Check out your TIMING!
Can you time the play in the contract below and get your reward?
	DEAL 

NO 3.a
	
      A74

      754

      K6

      AJT65 
	

	
      Q53 

      QJ1086

      A4

      ??3 
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      AK

     QJ853

      982
	


Contract: 3NT BY South
Opening Lead: 
     Q. (Top of a sequence) East plays the 2. 
You are told that West has the Ace of Diamonds AND atleast one of the missing Club honours, can have both. Can you make your contract?

STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = ? (__ in Spades, __ in hearts, __ in diamonds,  __ in clubs). 
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If you made Nine Tricks, congratulations. You have won the following reward!
4. “DANGEROUS” OPPONENT
Both opponents are dangerous you may say? Surely neither of them is there to do you any favours. Despite this, there are situations when one of the opponents can be more dangerous. How? Let us look at the deal below.  
	DEAL 

NO 4
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Contract: 3NT  BY South
Opening Lead: [image: image101.png]


Q. (Top of a sequence). East plays the 2.

East and West hands are not given.
STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = 6 (2 in Spades, 1 in Hearts, 2 in Diamonds, 1 in Clubs.)


Note: Count only “sure” tricks.
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4.a  Who is the danger man?
Can you spot the “Dangerous” opponent and safely steer this contract to its target?
	DEAL 

NO 3.a
	
      KJ72

      98

      K95

     K865 
	XXXX 
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      AT8

      A63

      AQJ

     AJ63
	


Contract: 3NT BY South
Opening Lead: 
      K. (Top of a sequence) East plays the 2. 
STEP 1:
COUNT YOUR SURE TRICKS 

Total No of SURE tricks = ? (__ in Spades, __ in hearts, __ in diamonds,  __ in clubs). 

STEP 2:
HOW MANY MORE TRICKS ARE NEEDED? WHERE CAN THEY COME FROM?

Our Target is NINE. So we need ____ more tricks. 


Which suit(s) can give required tricks? 

STEP 3:
ANALYSE THE LEAD AND DANGERS


What is the opening leaders likely holding in the suit? Does it pose a danger? How many controls do we have in that suit?

STEP 4:
MAKE A PLAN 

What are the steps in your plan? See hint below only if you need.

If you made Nine Tricks, congratulations. You have won the following reward!
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